City of Pembroke Pines Bid Tabulation - Procurement IFB #TS-20-03 NetApp Centralized Storage Solution

Vendor	Presidio Networked Solutions LLC	Sirius Computer Solutions, Inc.	Netsync Network Solutions
Contact Information (From Attachment A)	Company Information: 3250 W comercial Blvd Suite 360 Oakland Park, FL 33309 Primary Contact: Amir Wexler-Sr. Account Manager awexler@presidio.com Phone: 561-701-8861 Authorized Approver: Trina Dennis-Carlson-Director Gov Contracts tdennis-carlson@presidio.com Phone: 301.623.1872	Company Information: 10100 Reunion Place Suite 500 San Antonio, TX 78216 Phone: (210) 369-8000 Fax: (866) 313-0960 Primary Contact: Luke Fulton-Client Executive Phone: (847) 849-3696 Luke.fulton@siriuscom.com Authorized Approver: Bonnie M. Cerrito - Sr. VP Contracts & Risk bonnie.cerrito@siriuscom.com	Company Information: 4830 West Kennedy Blvd Suite 600 Tampa, FL 33609 Fax: (713) 664-9964 Primary Contact: Todd Coffman- Account Manager Phone: (813) 614-3746 tcofman@netsync.com Authorized Approver: Angela Melone-Corporate Editor Phone: (866) 974-5959 proposals@netsync.com
Attachment A - Contact Information Form	Included	Included	Included
Attachment B - Non-Collusive Affidavit	Included	Included	Included
Attachment C - Proposer's Qualifications Statement	Included	Included	Included
Vendor Registration and Qualification Documents:			
1. Vendor Information Form	Included	Included	Not Included
2. Form W-9 (Rev. October 2018)	Included	Included	Included - (2017 Form)
3. Sworn Statement of Public Entity Crimes Form	A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime. Not signed
4. Local Vendor Preference Certification	Included - Local Broward County Vendor	Included - Not a local vendor	Included -Not signed- Not a local vendor
5. Local Business Tax Receipts	LBTR - Broward County	Not Included	Not Included
6. Veteran Owned Small Business Preference Certification	Does not qualify for VOSB Preference Certification.	Does not qualify for VOSB Preference Certification.	Does not qualify for VOSB Preference Certification.
7. Equal Benefits Certification Form	Currently complies	Currently complies	Currently complies- Not signed
8. Vendor Drug-Free Workplace Certification Form	Complies fully	Complies fully	Complies fully
9. Scrutinized Company Certification	Included	Included	Included
Bid Security (N/A, Bid Bond, Cashier's Check, Not Submitted)	N/A	N/A	N/A
Additional Information	State of Florida Corporation Documents, Certificate of Liability Insurance, and a quote is included	Proposal included and vendor profile sheet.	Uniform Sales and Use Tax Exemption Resale Certificate
Method of Submittal	BidSync	BidSync	BidSync
Supplier Notes for Offer	For Lines 02, 05, 08, 10-12, 14, 17-24, 26, and 32-35 The proposed solution including this product code at no charge	Please see attached quote. Please see full proposal response.	We are bidding all lines except 32, 33, and 34.
Comments	None	None	Partial Bid

Pricing Tabulation for TS-20-03 "NetApp Centralized Storage Solution"

			Presidio			Siriu	Sirius Computer Solutions				Netsync					
Item #	Item	Qty Unit	Pric	e	То	tal	Notes	Price		Total	Not	es P	rice	Total		Notes
1	X-SFP-H10GB-CU5M-R6 CableCisco 10GBase Copper SFP+ 5m	8 each	\$	119.38	\$	955.04		\$ 122	.01	\$ 976	.08 (B) ;	\$ 109.10	\$	872.80	1
2	CLMSWITCH-24NODE-R5 SwitchNetAppCluster24-Node	2 each	\$	-	\$	-	(A)	\$	-	\$	- (B) :	; -	\$	-	
3	X190005 BES-53248 CLSW16PT10/25GBPTSXBRDCM SUPP	2 each	\$	5,154.26	\$	10,308.52		\$ 5,437	.83	\$ 10,875	.66 (B) !	\$ 14,916.90	\$ 2	9,833.80	(D)
4	X66211A-1 Cable100GbEQSFP28-QSFP28Cu1m	2 each	\$	134.78	\$	269.56		\$ 142	.20	\$ 284	.40 (B) ;	\$ -	\$	-	(E)
5	X800-42U-R6 Power CableIn-CabinetC13-C14	4 each	\$	-	\$		(A)	\$	-	\$	- (B) (; -	\$	-	
6	SVCVN-4OSP-X190005 Service Broadcom24x7x4hrParts Onsite	2 each	\$	5,481.24	\$	10,962.48		\$ 5,782	.80	\$ 11,565	.60 (B) :	\$ 9,270.40	\$ 18	8,540.80	(F)
7	X6566B-2-R6 CableDirect Attach CU SFP+ 10G2M	8 each	\$	76.54	\$	612.32		\$ 80	.76	\$ 646	.08 (B) :	72.20	\$	577.60	1
8	FAS8300 HEADER LINE	1 each	\$	-	\$	-	(A)	\$	-	\$	- (B) :	; -	\$	-	1
9	FAS8300A-003 FAS8300 HA SystemEthernet Bundle	2 each	\$ 1	12,835.59	\$	25,671.18		\$ 23,300	.61	\$ 46,601	.22 (B) (\$ 15,871.20	\$ 3	1,742.40	
10	SW-2-8300A-NVE-C SWData at Rest Encryption Enabled8300A-C	2 each	\$	-	\$	-	(A)	\$	-	\$	- (B) :	; -	\$	-	
11	SW-2-8300A-TPM-C SWTrusted Platform Module Enabled8300A-C	2 each	\$	-	\$	-	(A)	\$	-	\$	- (B) ;	\$ -	\$	-	1
12	DOC-8300-C DocumentsFAS8300-C	1 each	\$	-	\$		(A)	\$	-	\$	-	,	; -	\$	-	
13	X3313A-C FlashCache Upgrade2TB-C	2 each	\$	4,076.18	\$	8,152.36		\$ 7,390	.89	\$ 14,781	.78 (B) (\$ 5,034.30	\$ 10	0,068.60	
14	X800-42U-R6-C Power CableIn-CabinetC13-C14-C	16 each	\$	-	\$		(A)	\$	-	\$	- (B) (; -	\$	-	
15	X1147A-N-CNIC 4-Port Bare Cage 10GbE SFP+ PCIe-C	6 each	\$	2,752.14	\$	16,512.84		\$ 4,990	.17	\$ 29,941	.02 (B) (\$ 3,399.00	\$ 20	0,394.00	
16	X2072A-N-C HBA4x12Gb miniSAS HDPCle gen3x16-C	4 each	\$	2,156.69	\$	8,626.76		\$ 3,910	.50	\$ 15,642	.00	,	\$ 2,663.60	\$ 10	0,654.40	
17	X1161A-C MEZZANINE4-Pt25GCX5-C	2 each	\$	-	\$	-	(A)	\$	-	\$	-		\$ -	\$	-	1
18	X66240A-05-N-C Cable25GbESFP28-SFP28Cu0.5m-C	2 each	\$	-	\$		(A)	\$	-	\$	-	,	; -	\$	-	
19	X66250-2-N-C CableOptOM450\00B5mLC/LC2m-C	16 each	\$	-	\$		(A)	\$	-	\$	-	,	; -	\$	-	
20	X66032A-N-C Cable12GbMini SAS HD2m-C	24 each	\$	-	\$	-	(A)	\$	-	\$.	-		\$ -	\$	-	
21	DATA-AT-RESTENCRYPTION Data at Rest Encryption Capable Operating Sys	2 each	\$	-	\$	-	(A)	\$	-	\$	-		\$ -	\$	-	
22	X-02659-00-N-C Rail Kit4-PostRnd/Sq-HoleAdj24-32-C	7 each	\$	-	\$		(A)	\$	-	\$	-	,	; -	\$	-	
23	X6569-R6-N-C SFP+ for X1117AOptical10GbER6-C	16 each	\$	-	\$	-	(A)	\$	-	\$.	-		\$ -	\$	-	
24	X3164A-C ChassisAFF-A400FAS8300/8700AC PS-C	1 each	\$	-	\$	-	(A)	\$	-	\$.	-		\$ -	\$	-	
25	PS-DEPLOY-STAND-FAS-M PS DeploymentStandardFASMed	1 each	\$	7,904.00	\$	7,904.00		\$ 8,338	.89	\$ 8,338	.89	,	\$ 19,398.40	\$ 19	9,398.40	
26	X66030A-N-C Cable12GbMini SAS HD0.5m-C	8 each	\$	-	\$	-	(A)	\$	-	\$.	-		\$ -	\$	-	
27	SW-CORE-BNDLE-SASF03-C SWCore BundlePer-0.1TBSASF03-C	2304 each	\$	38.18	\$	87,966.72		\$ 70	.22	\$ 161,786	.88		\$ 51.40	\$ 11	8,425.60	
28	SW-DATA-PRO-BDL-SASF03-CSWData Protection BdlPer-0.1TBSASF03-C	2304 each	\$	16.71	\$	38,499.84		\$ 30	.72	\$ 70,778	.88		\$ 22.50	\$ 5	1,840.00	
29	DS224C-10-1.8-24S-N-C DSK SHLF12G24x1.8TB10K-C	2 each	\$ 1	10,234.00	\$	20,468.00		\$ 18,556	.22	\$ 37,112	.44		\$ 12,639.60	\$ 2	5,279.20	1
30	CS-4HR-REPLACEMENT4hr Parts Replacement	1 each	\$ 1	2,106.38	\$	12,106.38		\$ 13,742	.00	\$ 13,742	.00		\$ -	\$	-	(G)
31	CS-G1-SE-ADVISORSupportEdge Advisor	1 each	\$ 5	3,256.85	\$	53,256.85		\$ 60,464	.80	\$ 60,464	.80		\$ 9,123.50	\$!	9,123.50	
32	SW-8040 SoftwareFAS8040	2 each	\$	-	\$	-	(A)	\$	-	\$.	-					
33	SW-2-8040A-NVE SWData at Rest Encryption Enabled8040A	2 each	\$	-	\$	-	(A)	\$	-	\$.	-					i
34	CS-N-SSP-VANetApp SW Support PlanVA for 36 mo(s)	2 each	\$	-	\$	-	(A)	\$	-	\$	-					
35	FAS8300-EXP HEADER LINE	1 each	\$	-	\$	-	(A)	\$	-	\$	-	,	; -	\$	-	i
36	DS224C-10-1.2-12S-N-CQ Disk Shelf12G12x1.2TB10KCQ	1 each	\$	5,300.96	\$	5,300.96		\$ 9,611	.67	\$ 9,611	.67	,	6,547.00	\$	6,547.00	i
37	DS224C-10-1.8-24S-N-CQ DSK SHLF12G24x1.8TB10KCQ	3 each	\$ 1	10,234.00	\$	30,702.00		\$ 18,556	.22	\$ 55,668	.66		\$ 12,639.60	\$ 3	7,918.80	
38	CS-4HR-REPLACEMENT 4hr Parts Replacement	1 each	\$	2,183.94	\$	2,183.94		\$ 2,479	.00	\$ 2,479	.00		; -	\$	-	(G)
39	CS-G1-SE-ADVISORSupportEdge Advisor	1 each	\$	9,609.34	\$	9,609.34		\$ 10,907	.60	\$ 10,907	.60 (C) !	\$ 49,180.10	\$ 49	9,180.10	
<u> </u>		•		l.	\$	350,069.09				\$ 562,204	. 66 (B)		\$ 440	0,397.00	(H)

Notes: (A) The proposed solution including this product code at no charge

- (B) Please see attached quote.
- (C) Please see full proposal response.
- (D) X190100
- (E) X66211B-1-N-C
- (F) SVCVN-OSP-X190100
- (G) CS-NBD-DELIVERY-INC
- (H) We are bidding all lines except 32, 33, and 34



Welcome eduncan@ppines.com | Logout



Home Search Source Contracts Tools

<u>View by Line Item</u> | **View by Supplier**

Email Tabulation | Generate PDF | View Printable

Bid #TS-20-03 - NetApp Centralized Storage Solution

Creation Date May 28, 2020 End Date Jun 23, 2020 2:00:00 PM EDT

Start Date May 28, 2020 4:35:43 PM EDT Awarded Date Not Yet Awarded

Did Contact				\$350,069.09 (39/39 items)
Supplier Code 2	Amir Wexler <u>awexler@presidio.com</u> Ph 561-701-8661 286768 PP-DRUGFREE PP-EQUAL PP-HUBZONE PP-LBTR PP-LOCAL PP-MBE PP-	Address 3250 W. Com i Oakland Park	x, FL 33309	O DDJ/OSR DDJWQ DDJWRF
•	FF-DROGEREE FF-EQUAL FF-HOBZONE FF-EDIR FF-EOCAL FF-WIBE FF-	1	FF-VENDORINF	O FF-VO3D FF-VV9 FF-VVDE
Agency Notes: Item #	Line Item	Supplier Notes: Unit Price	On all limits	Total Price
TS-20-0301-01			Qty/Unit	\$955.04
Product Code: Agency Notes:	X-SFP-H10GB-CU5M-R6 Cable,Cisco 10GBase Copper SFP+ 5m - First Offer	Supplier Product Code: Supplier Notes:	8 / each	\$300.04
TS-20-0301-02	CLMSWITCH-24NODE-R5 SwitchNetAppCluster24-Node - First Offer		2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-03	X190005 BES-53248 CLSW,16PT10/25GB,PTSX,BRDCM SUPP - First Offer	\$5,154.26	2 / each	\$10,308.52
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-04	X66211A-1 Cable100GbEQSFP28-QSFP28Cu1m - First Offer	\$134.78	2 / each	\$269.56
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-05	X800-42U-R6 Power Cable,In-Cabinet,C13-C14 - First Offer	\$0.00	4 / each	\$0.00
Agency Notes:		Supplier Notes: The proposed	S	,
TS-20-0301-06	SVCVN-4OSP-X190005 Service Broadcom,24x7x4hr,Parts Onsite - First Offer	\$5,481.24	2 / each	\$10,962.48
Product Code:	SVCVN-4OSP-X190005 Service Broadcom,24x7x4hr,Parts Onsite - First Offer	\$5,481.24 Supplier Product Code: Supplier Notes:	2 / each	\$10,962.48
TS-20-0301-06 Product Code: Agency Notes: TS-20-0301-07	SVCVN-4OSP-X190005 Service Broadcom,24x7x4hr,Parts Onsite - First Offer X6566B-2-R6 Cable,Direct Attach CU SFP+ 10G,2M - First Offer	Supplier Product Code: Supplier Notes:	2 / each	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Product Code: Agency Notes: TS-20-0301-07 Product Code:		Supplier Product Code: Supplier Notes: \$76.54 Supplier Product Code: Supplier Notes:		\$612.32
Product Code: Agency Notes: TS-20-0301-07 Product Code: Agency Notes: TS-20-0301-08 Product Code:	X6566B-2-R6 Cable,Direct Attach CU SFP+ 10G,2M - First Offer	Supplier Product Code: Supplier Notes: \$76.54 Supplier Product Code: Supplier Notes:	8/each	\$612.32 \$0.00
Product Code: Agency Notes: TS-20-0301-07 Product Code: Agency Notes: TS-20-0301-08 Product Code: Agency Notes:	X6566B-2-R6 Cable,Direct Attach CU SFP+ 10G,2M - First Offer	Supplier Product Code: Supplier Notes: \$76.54 Supplier Product Code: Supplier Notes: \$0.00 Supplier Product Code: Supplier Product Code: Supplier Notes: The proposed	8/each	\$612.32 \$0.00 this product code at no charge
Product Code: Agency Notes: TS-20-0301-07 Product Code: Agency Notes: TS-20-0301-08 Product Code: Agency Notes: TS-20-0301-09 Product Code:	X6566B-2-R6 Cable,Direct Attach CU SFP+ 10G,2M - First Offer FAS8300 HEADER LINE - First Offer	Supplier Product Code: Supplier Notes: \$76.54 Supplier Product Code: Supplier Notes: \$0.00 Supplier Product Code: Supplier Product Code: Supplier Notes: The proposed	8 / each 1 / each solution including	\$612.32 \$0.00 this product code at no charge
Product Code: Agency Notes: TS-20-0301-07 Product Code: Agency Notes:	X6566B-2-R6 Cable,Direct Attach CU SFP+ 10G,2M - First Offer FAS8300 HEADER LINE - First Offer	Supplier Product Code: Supplier Notes: \$76.54 Supplier Product Code: Supplier Notes: \$0.00 Supplier Product Code: Supplier Notes: The proposed \$12,835.59 Supplier Product Code: Supplier Notes:	8 / each 1 / each solution including	\$612.32 \$0.00
Product Code: Agency Notes: TS-20-0301-07 Product Code: Agency Notes: TS-20-0301-08 Product Code: Agency Notes: TS-20-0301-09 Product Code: Agency Notes:	X6566B-2-R6 Cable,Direct Attach CU SFP+ 10G,2M - First Offer FAS8300 HEADER LINE - First Offer FAS8300A-003 FAS8300 HA System,Ethernet Bundle - First Offer	Supplier Product Code: Supplier Notes: \$76.54 Supplier Product Code: Supplier Notes: \$0.00 Supplier Product Code: Supplier Notes: The proposed \$12,835.59 Supplier Product Code: Supplier Notes:	8 / each 1 / each solution including 2 / each	\$612.32 \$0.00 this product code at no charge \$25,671.18

Supplier Product Code:

Product Code:

Agency Notes:	·	Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-12	DOC-8300-C Documents,FAS8300,-C - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-13	X3313A-C FlashCache Upgrade,2TB,-C - First Offer	\$4,076.18	2 / each	\$8,152.36
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-14	X800-42U-R6-C Power Cable,In-Cabinet,C13-C14,-C - First Offer	\$0.00	16 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-15	X1147A-N-C NIC 4-Port Bare Cage 10GbE SFP+ PCIe,-C - First Offer	\$2,752.14	6 / each	\$16,512.84
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-16	X2072A-N-C HBA,4x12Gb miniSAS HD,PCle gen3x16,-C - First Offer	\$2,156.69	4 / each	\$8,626.76
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-17	X1161A-C MEZZANINE,4-Pt,25G,CX5,-C - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-18	X66240A-05-N-C Cable,25GbE,SFP28-SFP28,Cu,0.5m,-C - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-19	X66250-2-N-C Cable,Opt,OM4,50\00B5m,LC/LC,2m,-C - First Offer	\$0.00	16 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-20	X66032A-N-C Cable,12Gb,Mini SAS HD,2m,-C - First Offer	\$0.00	24 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-21	DATA-AT-RESTENCRYPTION Data at Rest Encryption Capable Operating Sys - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-22	X-02659-00-N-C Rail Kit,4-Post,Rnd/Sq-Hole,Adj,24-32,-C - First Offer	\$0.00	7 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-23	X6569-R6-N-C SFP+ for X1117A,Optical,10GbE,R6,-C - First Offer	\$0.00	16 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-24	X3164A-C Chassis,AFF-A400,FAS8300/8700,AC PS,-C - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-25	PS-DEPLOY-STAND-FAS-M PS Deployment,Standard,FAS,Med - First Offer	\$7,904.00	1 / each	\$7,904.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-26	X66030A-N-C Cable,12Gb,Mini SAS HD,0.5m,-C - First Offer		8 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-27	SW-CORE-BNDLE-SASF03-C SW,Core Bundle,Per-0.1TB,SAS,F03,-C - First Offer	\$38.18	2304 / each	\$87,966.72
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	-	
TS-20-0301-28	SW-DATA-PRO-BDL-SASF03-C SW,Data Protection Bdl,Per-0.1TB,SAS,F03,-C - First Offer	\$16.71	2304 / each	\$38,499.84
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-29	DS224C-10-1.8-24S-N-C DSK SHLF,12G,24x1.8TB,10K,-C - First Offer		2 / each	\$20,468.00
Product Code: Agency Notes:	, , . ,	Supplier Product Code: Supplier Notes:	1	, , , , , ,
TS-20-0301-30	CS-4HR-REPLACEMENT 4hr Parts Replacement - First Offer	1	1 / each	\$12,106.38
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

24/2020	BidSync: Bid	Tabulation Report		
TS-20-0301-31	CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer	\$53,256.85	1 / each	\$53,256.85
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-32	SW-8040 Software,FAS8040 - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-33	SW-2-8040A-NVE SW,Data at Rest Encryption Enabled,8040A - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-34	CS-N-SSP-VA NetApp SW Support Plan,VA for 36 mo(s) - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-35	FAS8300-EXP HEADER LINE - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The proposed	solution including	this product code at no charge
TS-20-0301-36	DS224C-10-1.2-12S-N-CQ Disk Shelf,12G,12x1.2TB,10K,CQ - First Offer	\$5,300.96	1 / each	\$5,300.96
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-37	DS224C-10-1.8-24S-N-CQ DSK SHLF,12G,24x1.8TB,10K,CQ - First Offer	\$10,234.00	3 / each	\$30,702.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-38	CS-4HR-REPLACEMENT 4hr Parts Replacement - First Offer	\$2,183.94	1 / each	\$2,183.94
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-39	CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer	\$9,609.34	1 / each	\$9,609.34
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

Sirius Comput	er Solutions			\$562,204.66 (39/39 items)
Qualifications	Chuck Snapp <u>phyllis.byrd@siriuscom.com</u> Ph 214-931-9315 PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWOR Please see attached quote.	Address 10100 Reunio San Antonio, N PP-VENDORINFO PP-VC	TX 78216	
Agency Notes:		Supplier Notes: Please see atta	ched quote.	
Item#	Line Item	Unit Price	Qty/Unit	Total Price
TS-20-0301-01	X-SFP-H10GB-CU5M-R6 Cable, Cisco 10GBase Copper SFP+ 5m - First Offer	\$122.01	8 / each	\$976.08
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see atta	ached quote.	
TS-20-0301-02	CLMSWITCH-24NODE-R5 SwitchNetAppCluster24-Node - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see atta	ached quote.	
TS-20-0301-03	X190005 BES-53248 CLSW,16PT10/25GB,PTSX,BRDCM SUPP - First Offer	\$5,437.83	2 / each	\$10,875.66
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see atta	ached quote.	
TS-20-0301-04	X66211A-1 Cable100GbEQSFP28-QSFP28Cu1m - First Offer	\$142.20	2 / each	\$284.40
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see atta	ached quote.	

24/2020	bidəyric. bid	rabulation Report		
TS-20-0301-05	X800-42U-R6 Power Cable, In-Cabinet, C13-C14 - First Offer	\$0.00	4 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see attac	hed quote.	
TS-20-0301-06	SVCVN-4OSP-X190005 Service Broadcom,24x7x4hr,Parts Onsite - First Offer		2 / each	\$11,565.60
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see attac	hed quote.	
TS-20-0301-07	X6566B-2-R6 Cable,Direct Attach CU SFP+ 10G,2M - First Offer	\$80.76	8 / each	\$646.08
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see attac	hed quote.	
TS-20-0301-08	FAS8300 HEADER LINE - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see attac	hed quote.	
TS-20-0301-09	FAS8300A-003 FAS8300 HA System,Ethernet Bundle - First Offer	\$23,300.61	2 / each	\$46,601.22
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see attac	hed quote.	•
TS-20-0301-10	SW-2-8300A-NVE-C SW,Data at Rest Encryption Enabled,8300A,-C - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see attac	hed quote.	
TS-20-0301-11	SW-2-8300A-TPM-C SW,Trusted Platform Module Enabled,8300A,-C - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see attac	hed quote.	
TS-20-0301-12	DOC-8300-C Documents,FAS8300,-C - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		•
TS-20-0301-13	X3313A-C FlashCache Upgrade,2TB,-C - First Offer	\$7,390.89	2 / each	\$14,781.78
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see attac	hed quote.	
TS-20-0301-14	X800-42U-R6-C Power Cable, In-Cabinet, C13-C14,-C - First Offer	\$0.00	16 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see attac	hed quote.	
TS-20-0301-15	X1147A-N-C NIC 4-Port Bare Cage 10GbE SFP+ PCle,-C - First Offer	\$4,990.17	6 / each	\$29,941.02
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please see attac	hed quote.	
TS-20-0301-16	X2072A-N-C HBA,4x12Gb miniSAS HD,PCle gen3x16,-C - First Offer		4 / each	\$15,642.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-17	X1161A-C MEZZANINE,4-Pt,25G,CX5,-C - First Offer		2 / each	\$0.00
		Supplier Product Code:		
Product Code: Agency Notes:		Supplier Notes:		
Agency Notes: TS-20-0301-18	X66240A-05-N-C Cable,25GbE,SFP28-SFP28,Cu,0.5m,-C - First Offer	\$0.00	2 / each	\$0.00
Agency Notes:	X66240A-05-N-C Cable,25GbE,SFP28-SFP28,Cu,0.5m,-C - First Offer		2 / each	\$0.00
Agency Notes: TS-20-03-01-18 Product Code:	X66240A-05-N-C Cable,25GbE,SFP28-SFP28,Cu,0.5m,-C - First Offer X66250-2-N-C Cable,Opt,OM4,50\00B5m,LC/LC,2m,-C - First Offer	\$0.00 Supplier Product Code: Supplier Notes:	2 / each	\$0.00

	,_0_0	1	i i i i i i i i i i i i i i i i i i i		1
Separation Sep	TS-20-0301-20	X66032A-N-C Cable,12Gb,Mini SAS HD,2m,-C - First Offer		24 / each	\$0.00
15.2013-01.73 DATA-ART RESTEMENRYTION Date at Rest Encryption Capable Operating Sys. First Offer Agency Motes:			1		
Supplies Product Code: Supplies Product		DATA-AT-RESTENCRYPTION Data at Rest Encountion Canable Operating Sys - First Offer		2 / each	\$0.00
Page		printing special defeated at the second special department of the second		27 00011	70,00
Supplier Product Codes Supplier Product Co	Agency Notes:		1		
Agency Notes: Supplier Not	TS-20-0301-22	X-02659-00-N-C Rail Kit,4-Post,Rnd/Sq-Hole,Adj,24-32,-C - First Offer	\$0.00	7 / each	\$0.00
Supplier Product Code: Supplier Product Co			1		
Agency	TS-20-0301-23	X6569-R6-N-C SFP+ for X1117A,Optical,10GbE,R6,-C - First Offer	\$0.00	16 / each	\$0.00
TS 2003-01-26			1		
Supplier Product Code: Supplier Product Co		V24544 G.S		4.7 1	+0.00
Name Supple Notes: Sup		X3164A-C Chassis,AFF-A400,FAS8300/8700,AC PS,-C - First Offer		1 / each	\$0.00
Product Code: Agency Notes: Supplier Product Code: Supplier Pro			1		
Agency Notes: Supplier Not		PS-DEPLOY-STAND-FAS-M PS Deployment, Standard, FAS, Med - First Offer	\$8,338.89	1 / each	\$8,338.89
152-039-01-26	Product Code:		Supplier Product Code:		
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Suppl	Agency Notes:		Supplier Notes:		
Agency Notes: Supplier Not		X66030A-N-C Cable,12Gb,Mini SAS HD,0.5m,-C - First Offer		8 / each	\$0.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Note			••		
Agency Notes: Supplier Not	TS-20-0301-27	SW-CORE-BNDLE-SASF03-C SW,Core Bundle,Per-0.1TB,SAS,F03,-C - First Offer	\$70.22	2304 / each	\$161,786.88
Product Code: Agency Notes: Supplier Product Code: Supplier Pro			••		
Agency Notes: Supplier Not	TS-20-0301-28	SW-DATA-PRO-BDL-SASF03-C SW,Data Protection Bdl,Per-0.1TB,SAS,F03,-C - First Offer	\$30.72	2304 / each	\$70,778.88
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplie			1		
Agency Notes Supplier Notes: Supplier Note	TS-20-0301-29	DS224C-10-1.8-24S-N-C DSK SHLF,12G,24x1.8TB,10K,-C - First Offer	\$18,556.22	2 / each	\$37,112.44
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplie					
Agency Notes: Supplier Notes: T5.20.03-01-31 CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer \$60,464.80 1 / each \$60,464.88 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: \$0,00 2 / each \$0.00 Ragency Notes: Supplier Product Code: Supplier Notes: \$0,00 2 / each \$0.00 T5-20-03-01-33 SW-2-8040A-NVE SW,Data at Rest Encryption Enabled,8040A - First Offer \$0.00 2 / each \$0.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: \$0.00 2 / each \$0.00 T5-20-03-01-34 CS-N-SSP-VA NetApp SW Support Plan,VA for 36 mo(s) - First Offer \$0.00 2 / each \$0.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: \$0.00 1 / each \$0.00 T5-20-03-01-35 FAS8300-EXP HEADER LINE - First Offer \$0.00 1 / each \$0.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: \$0.00 1 / each \$9.611.6 T5-20-03-01-36 D5224C-10-1.2-125-N-CQ DIsk Shelf,12G,12x1.2TB,10K,CQ - First Offer \$1.8,556.22	TS-20-0301-30	CS-4HR-REPLACEMENT 4hr Parts Replacement - First Offer	\$13,742.00	1 / each	\$13,742.00
Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Agency Notes: Supplier Notes: Supplier Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Notes: Supplier Product Code: Agency Notes: Supplier Notes			1		
Agency Notes: Supplier Notes: T5:20:03-01-32 SW-8040 Software,FAS8040 - First Offer \$0.00 2 / each \$0.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: \$0.00 2 / each \$0.00 Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: \$0.00 2 / each \$0.00 Product Code: Agency Notes: Supplier Notes: \$0.00 2 / each \$0.00 Product Code: Agency Notes: Supplier Product Code: \$0.00 2 / each \$0.00 Product Code: Agency Notes: Supplier Product Code: \$0.00 2 / each \$0.00 Product Code: Agency Notes: Supplier Product Code: \$0.00 1 / each \$0.00 Regroy Notes: T5-20-03-01-36 D5224C-10-1.2-125-N-CQ Disk Shelf,12G,12x1.2TB,10K,CQ - First Offer \$9,611.67 1 / each \$9,611.6 Product Code: Agency Notes: Supplier Product Code: \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	TS-20-0301-31	CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer	\$60,464.80	1 / each	\$60,464.80
TS-20/03-01-32 SW-8040 Software,FAS8040 - First Offer S0.00 2 / each S0.00 Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Suppl			1		
Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes:		SW00105 6 F150010 F1 10		0 / 1	+0.00
Agency Notes: Supplier Notes: TS-20-03-01-33 SW-2-8040A-NVE SW,Data at Rest Encryption Enabled,8040A - First Offer \$0.00 2 / each \$0.00 Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: \$0.00 2 / each \$0.00 Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: \$0.00 1 / each \$0.00 \$0.0		SW-8040 Software,FAS8040 - First Offer		2 / each	\$0.00
TS-20-03-01-33 SW-2-8040A-NVE SW,Data at Rest Encryption Enabled,8040A - First Offer \$0.00 2 / each \$0.00 Product Code: Agency Notes: Supplier					
Agency Notes: Supplier Notes: T5-20-03-01-34 CS-N-SSP-VA NetApp SW Support Plan,VA for 36 mo(s) - First Offer \$0.00 2 / each \$0.00 Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: \$0.00 1 / each \$0.00 Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: \$0.00 1 / each \$9,611.67 \$0.00<		SW-2-8040A-NVE SW,Data at Rest Encryption Enabled,8040A - First Offer		2 / each	\$0.00
TS-20-03-01-34 CS-N-SSP-VA NetApp SW Support Plan,VA for 36 mo(s) - First Offer \$0.00 2 / each \$0.00	Product Code:		Supplier Product Code:		!
Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes:	Agency Notes:		Supplier Notes:		T
Agency Notes: Supplier Notes: TS-20-03-01-35 FAS8300-EXP HEADER LINE - First Offer \$0.00 1 / each \$0.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: 1 / each \$9,611.67 1 / each \$9,611.67 \$9,611.67 1 / each \$9,611.67 \$9,611.67 1 / each \$9,611.67 \$9,611.67 \$1 / each \$9,611.67 \$1 / each \$9,611.67 \$1 / each \$9,611.67 \$1 / each \$2,479.00 \$1 / each \$2,479.00 \$2,479.00 \$2,479.00 \$2,479.00 \$2,479.00 \$2,47		CS-N-SSP-VA NetApp SW Support Plan,VA for 36 mo(s) - First Offer		2 / each	\$0.00
TS-20-03-01-35 FAS8300-EXP HEADER LINE - First Offer \$0.00 1 / each \$0.00			1		
Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes:		FAS8300-EXP HEADER LINE - First Offer		1 / each	\$0.00
Agency Notes: Supplier Notes: T5-20-03-01-36 DS224C-10-1.2-125-N-CQ Disk Shelf,12G,12x1.2TB,10K,CQ - First Offer \$9,611.67 1 / each \$9,611.6 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: T5-20-03-01-37 DS224C-10-1.8-245-N-CQ DSK SHLF,12G,24x1.8TB,10K,CQ - First Offer \$18,556.22 3 / each \$55,668.6 Product Code: Agency Notes: T5-20-03-01-38 CS-4HR-REPLACEMENT 4hr Parts Replacement - First Offer \$2,479.00 1 / each \$2,479.0 Product Code: Agency Notes: T5-20-03-01-39 CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer \$10,907.60 1 / each \$10,907.60 Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code:		7,5550 24 112 321,2112 1150 5110		. / cdc.:	70,00
Product Code: Supplier Product Code: Agency Notes: Supplier Notes: TS-20-03-01-37 DS224C-10-1.8-24S-N-CQ DSK SHLF,12G,24x1.8TB,10K,CQ - First Offer \$18,556.22 3 / each \$55,668.6 Product Code: Agency Notes: TS-20-03-01-38 CS-4HR-REPLACEMENT 4hr Parts Replacement - First Offer \$2,479.00 1 / each \$2,479.0 Product Code: Agency Notes: Supplier Product Code: TS-20-03-01-39 CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer \$10,907.60 1 / each \$10,907.6 Product Code: Supplier Product Code:			l		
Agency Notes: Supplier Notes: Ts-20-03-01-37 DS224C-10-1.8-24S-N-CQ DSK SHLF,12G,24x1.8TB,10K,CQ - First Offer \$18,556.22 3 / each \$55,668.6 Product Code: Agency Notes: Ts-20-03-01-38 CS-4HR-REPLACEMENT 4hr Parts Replacement - First Offer \$2,479.00 1 / each \$2,479.0 Product Code: Agency Notes: Supplier Product Code: Ts-20-03-01-39 CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer \$10,907.60 1 / each \$10,907.60 Product Code: Supplier Product Code:	TS-20-0301-36	DS224C-10-1.2-12S-N-CQ Disk Shelf,12G,12x1.2TB,10K,CQ - First Offer	\$9,611.67	1 / each	\$9,611.67
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: TS-20-03-01-38 CS-4HR-REPLACEMENT 4hr Parts Replacement - First Offer \$2,479.00 1 / each \$2,479.0 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: TS-20-03-01-39 CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer \$10,907.60 1 / each \$10,907.60 Product Code: Supplier Product Code:			l		
Agency Notes: Supplier Notes: TS-20-03-01-38 CS-4HR-REPLACEMENT 4hr Parts Replacement - First Offer \$2,479.00 1 / each \$2,479.0 Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: TS-20-03-01-39 CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer \$10,907.60 1 / each \$10,907.60 Product Code: Supplier Product Code:	TS-20-0301-37	DS224C-10-1.8-24S-N-CQ DSK SHLF,12G,24x1.8TB,10K,CQ - First Offer	\$18,556.22	3 / each	\$55,668.66
TS-20-03-01-38 CS-4HR-REPLACEMENT 4hr Parts Replacement - First Offer \$2,479.00 1 / each \$2,479.0 Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: TS-20-03-01-39 CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer \$10,907.60 1 / each \$10,907.60 Product Code: Supplier Product Code:			1		
Agency Notes: Supplier Notes: TS-20-03-01-39 CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer \$10,907.60 1 / each \$10,907.60 Product Code: Supplier Product Code:	TS-20-0301-38	CS-4HR-REPLACEMENT 4hr Parts Replacement - First Offer	\$2,479.00	1 / each	\$2,479.00
TS-20-03-01-39 CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer \$10,907.60 1 / each \$10,907.60 Product Code: Supplier Product Code:			1		
		CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer	\$10,907.60	1 / each	\$10,907.60
		· · · · · · · · · · · · · · · · · · ·	1	oroposal respons	se.

Netsync \$440,397.00 (36/39 items)

Address 2304 Tarpley Road Carrollton, TX 75006

Bid Contact **Jeff Barker**

<u>jbarker@netsyncnetwork.com</u>

Ph 866-974-5959

Qualifications PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9

Bid Notes	We are bidding all lines except 32, 33, and 34			
Agency Notes:		Supplier Notes: We are bidding	g all lines except	: 32, 33, and 34
Item#	Line Item	Unit Price	Qty/Unit	Total Price
TS-20-0301-01	X-SFP-H10GB-CU5M-R6 Cable,Cisco 10GBase Copper SFP+ 5m - First Offer	+	8 / each	\$872.80
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-02	CLMSWITCH-24NODE-R5 SwitchNetAppCluster24-Node - First Offer		2 / each	\$0.00
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:	I	
TS-20-0301-03	X190005 BES-53248 CLSW,16PT10/25GB,PTSX,BRDCM SUPP - First Offer	,	2 / each	\$29,833.80
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: X190100		
TS-20-0301-04	X66211A-1 Cable100GbEQSFP28-QSFP28Cu1m - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: X66211B-1-N-0		
TS-20-03-01-05 Product Code: Agency Notes: TS-20-03-01-06 Product Code: Agency Notes:	X800-42U-R6 Power Cable,In-Cabinet,C13-C14 - First Offer SVCVN-4OSP-X190005 Service Broadcom,24x7x4hr,Parts Onsite - First Offer	Supplier Product Code: Supplier Notes:	4 / each 2 / each	\$0.00
TS-20-03-01-07	X6566B-2-R6 Cable,Direct Attach CU SFP+ 10G,2M - First Offer		8/each	\$577.60
Product Code:		Supplier Product Code:		·
Agency Notes:	FLOGOGO UFLDEDUNG TO A ST	Supplier Notes:	4.4	
TS-20-0301-08 Product Code:	FAS8300 HEADER LINE - First Offer	Supplier Product Code:	1 / each	\$0.00
Agency Notes:	EACO200A 002 FACO200 LIA Contant Februari Donalla First Office	Supplier Notes:	2 / each	#D4 740 40
TS-20-0301-09 Product Code: Agency Notes:	FAS8300A-003 FAS8300 HA System,Ethernet Bundle - First Offer	\$15,871.20 Supplier Product Code: Supplier Notes:	∠ / eacri	\$31,742.40
TS-20-0301-10	SW-2-8300A-NVE-C SW,Data at Rest Encryption Enabled,8300A,-C - First Offer		2 / each	\$0.00
Product Code: Agency Notes:	377 2 0300/11712 C 377,5000 at Nest End yption Enabled,0300/4"C * Filst Offer	Supplier Product Code: Supplier Notes:		1 \$0.00
TS-20-0301-11	SW-2-8300A-TPM-C SW,Trusted Platform Module Enabled,8300A,-C - First Offer		2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	1	-,
TS-20-0301-12	DOC-8300-C Documents,FAS8300,-C - First Offer	· · ·	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	1	
TS-20-0301-13	X3313A-C FlashCache Upgrade,2TB,-C - First Offer		2 / each	\$10,068.60
Product Code: Agency Notes:	,	Supplier Product Code: Supplier Notes:	1	, , , , , , , , , , , , , , , , , , , ,
			ı	· ·

12-1/2020	Blacyrio. Bla	rabalation report		
TS-20-0301-14	X800-42U-R6-C Power Cable,In-Cabinet,C13-C14,-C - First Offer	\$0.00	16 / each	\$0.00
Product Code:		Supplier Product Code:		
Agency Notes: TS-20-0301-15	X1147A-N-C NIC 4-Port Bare Cage 10GbE SFP+ PCle,-C - First Offer	Supplier Notes: \$3,399.00	6 / each	\$20,394.00
Product Code:	ATTAMAGE NIC 44 OIT Bale Cage TOUBLE SIT TECH, C-TIIST OHE	Supplier Product Code:	07 Editi	\$20,35 4 .00
Agency Notes:		Supplier Notes:		
TS-20-0301-16	X2072A-N-C HBA,4x12Gb miniSAS HD,PCle gen3x16,-C - First Offer		4 / each	\$10,654.40
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-17	X1161A-C MEZZANINE,4-Pt,25G,CX5,-C - First Offer		2 / each	\$0.00
Product Code:		Supplier Product Code:		
Agency Notes: TS-20-0301-18	VGC240A OF NLC Cable 25ChF CFD20 CFD20 Cu 0.5 cm. C. First Offer	Supplier Notes: \$0.00	2 / each	\$0.00
Product Code:	X66240A-05-N-C Cable,25GbE,SFP28-SFP28,Cu,0.5m,-C - First Offer	Supplier Product Code:	27 eacm	\$0.00
Agency Notes:		Supplier Notes:		
TS-20-0301-19	X66250-2-N-C Cable,Opt,OM4,50\00B5m,LC/LC,2m,-C - First Offer		16 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-20	X66032A-N-C Cable,12Gb,Mini SAS HD,2m,-C - First Offer		24 / each	\$0.00
Product Code:		Supplier Product Code:		
Agency Notes: TS-20-0301-21	DATA-AT-RESTENCRYPTION Data at Rest Encryption Capable Operating Sys - First Offer	Supplier Notes: \$0.00	2 / each	\$0.00
Product Code:	DATA-AT-RESTENCATE HON Data at Rest Effet yption capable operating sys - riist offer	Supplier Product Code:	2 / eacii	Ψ0.00
Agency Notes:		Supplier Notes:		
TS-20-0301-22	X-02659-00-N-C Rail Kit,4-Post,Rnd/Sq-Hole,Adj,24-32,-C - First Offer		7 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-23	X6569-R6-N-C SFP+ for X1117A,Optical,10GbE,R6,-C - First Offer	\$0.00	16 / each	\$0.00
Product Code:		Supplier Product Code:		
Agency Notes: TS-20-0301-24	X3164A-C Chassis,AFF-A400,FAS8300/8700,AC PS,-C - First Offer	Supplier Notes: \$0.00	1 / each	\$0.00
Product Code:	731047-C CH8331371-74001100000101007007-C-1113COHE	Supplier Product Code:	17 each	Ψ0.00
Agency Notes:		Supplier Notes:		
TS-20-0301-25 Product Code:	PS-DEPLOY-STAND-FAS-M PS Deployment, Standard, FAS, Med - First Offer		1 / each	\$19,398.40
Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-26	X66030A-N-C Cable,12Gb,Mini SAS HD,0.5m,-C - First Offer	\$0.00	8 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-27	SW-CORE-BNDLE-SASF03-C SW,Core Bundle,Per-0.1TB,SAS,F03,-C - First Offer		2304 / each	\$118,425.60
Product Code:		Supplier Product Code:		·
Agency Notes:	GUALTA DOS DOLICIOSOS GUADA A DALAMA DA LOS DA ATTOCACIONOS GUADA	Supplier Notes:	22244	*54.040.00
TS-20-0301-28 Product Code:	SW-DATA-PRO-BDL-SASF03-C SW,Data Protection Bdl,Per-0.1TB,SAS,F03,-C - First Offer	\$22.50 Supplier Product Code:	2304 / each	\$51,840.00
Agency Notes:		Supplier Notes:		
TS-20-0301-29	DS224C-10-1.8-24S-N-C DSK SHLF,12G,24x1.8TB,10K,-C - First Offer	\$12,639.60	2 / each	\$25,279.20
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-30	CS-4HR-REPLACEMENT 4hr Parts Replacement - First Offer		1 / each	\$0.00
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes: CS-NBD-DELIVER	RY-INC	
TS-20-0301-31	CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer	\$9,123.50	1 / each	\$9,123.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-32	SW-8040 Software,FAS8040	Supplier Notes.		No Bids
Agency Notes:		Supplier Product Code:		
TG 20 22 21 21	GW2 00404 NW/FGWD-L	Supplier Notes:		
TS-20-0301-33 Agency Notes:	SW-2-8040A-NVE SW,Data at Rest Encryption Enabled,8040A	Supplier Product Code:		No Bids
AGENCY NUCCS.		Supplier Notes:		
TS-20-0301-34	CS-N-SSP-VA NetApp SW Support Plan,VA for 36 mo(s)			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
1		pappiici ivotes.		

TS-20-0301-35	FAS8300-EXP HEADER LINE - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-36	DS224C-10-1.2-12S-N-CQ Disk Shelf,12G,12x1.2TB,10K,CQ - First Offer	\$6,547.00	1 / each	\$6,547.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-37	DS224C-10-1.8-24S-N-CQ DSK SHLF,12G,24x1.8TB,10K,CQ - First Offer	\$12,639.60	3 / each	\$37,918.80
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-20-0301-38	CS-4HR-REPLACEMENT 4hr Parts Replacement - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CS-NBD-DELIV	ERY-INC	
TS-20-0301-39	CS-G1-SE-ADVISOR SupportEdge Advisor - First Offer	\$49,180.10	1 / each	\$49,180.10
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

Close

Questions? Contact a BidSync representative: 800-990-9339 or email: support@bidsync.com

Home Bid Search Bids Orders Tools Support Privacy Logout

in 💆 f 🛗

Copyright © 1999-2018 - BidSync - All rights reserved.